=42 _tracking
15/Nov/2016



New tracking algorithm

XZ distribution (Event #2) YZ distribution (Event #2)

———— 1. Discarded prediction vector method which
required “neighboured cluster”.
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| / {2. Tracking steps

§ : | 1. Find 3 connected clusters which had
___________ ] : largest layerID in the data.
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L e o f | ; the track finding step.
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3. Improved tracking abilities around target.
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Searching crossing point

r0,x0,z0

Track length

* Find two crossing point  * Select two circle which
between two circle has the minimum |dy|



Crossing point finder sample
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Under working

Tangent vector calculation Find correct combination
XZ distribution (Event #4)
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to find correct tangent vector R



